: Subtract numbers up to five digits: word problems yi

1. This year, Mr smith had a great harvest. He harvested a total of 69,726 ¢

grape farm. Out of these grapes, 29,926 were red and the rest were green. How man
green grapes did he harvest?

2. Jerry had 8,756 pennies|in his piggy bank. He spent 7,867. How many penni
have now in his piggy bank?

=

3. Mike owns a booksh p\JMitl’ a total of 2,621 books in it. His friend John also owns a |

bookshop with a total of 4,934 books. How many books does John have in his bookshop
more than Mike? ‘
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Subtract numbers up to five digits: word problems

This year, Mr smith had a great harvest. He harvested a total of 69,726 grapes from his

o ©

grape farm. Qut of thes apes, 29,926 were red and the rest were green. How man

green grapes did he harvest?
To solve this problen e have to/subtract the number of red grapes from the total numbe

of

arvested grapes .

1 216

O ~J

) 2 6

So, he harvested 39,800 green grapes

Jerry had 8,756 pennies!in his piggy bank. He spent 7,867. How many pennies does he
have now in his piggy bank?

To solve this problem, let’s isubtract the amount of pennies he spent from the total amount

he

in the piggy bank.

Therefore, Jerry has 889 pennies in his piggy bank now.

889

Mike owns a bookshop with a total of 2,621 books in it. His friend John also owns a

bookshop with a total of 4,934 books. How many books does John have in his booksh

op

more than Mike?

To solve this problen e have to/subtract the total number of books Mike has from the total
umber of books John has
4 9 :
ad 2,16 21
2,313

Therefore, John has 2,313 more books in his book shop than Mike
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